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- Time: Three Hours

SRR - Answer ALL questlons
S f‘f%ALL questrons carry EQUAL marks

v iIn Gauss J ordan method the augmented matnx is rcduced to
o _fa) Upper d1agonal b)Lower dlagonal c) dlagonal

'j:_"."In Ncwton s forward rnterpola’aon method the formula to ﬁnd dy/dx rs

B¢ 1, 0 1
) = [Ayo 7§-A’yo +- e A’yo

m the followmg data
20 - 1230
0,'.3‘»9,07 _

iyforx 28 fro




R b) Evaluate 5

CIL a) Test for consrstency of the equat1ons and solve
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B E_é_timeite th'eami'ésihgi value: e o
S f(x) 450 93 Tsar . Tera

"'\’10 a)Flnddy/dx atx—05 given EHR A
; A‘:.vr ;_»»X RS Y § IO f,j-'vl » “;VN1 2 b{‘,>3u;>f b45;i”. o
S FICO N L RS LR 185

usmg Trapezordal rule and Slmpson s 1/3 rule _-7 ;":;:‘. IR

.,[

SECTION -C ( 30 Ma [
Answer ALL questions :
ALL questrons carry EQUAL Marks L (5 X 6 30)

RN 3= ~8z= 1-10 x4y 47=0; 2x+5y+6z——13
' : ’ ' (or)

B L b) Fmd the ergen values and elgen vectors of the matrxx, 1 3’“', 1l
.12. a) _‘sorye;* _(D?+D-ji)y= sinzx. e
P e T R (or)
b) Solve (x —yZ)P+(y —zx)q (Z ~xy)

13 a) Solve by Gauss Seldal method : I S e T e
6x+15y+2z_72 x+y+54z 110 27x+6y z—85 T

b) Solve by Gauss Jacobr method L s
28x+4y z= 32 x+3y+lOz-24 2x+17y+4z 35 ‘

"_14 a)Thepopulatronofthetownlsasfollows S T e
s [Year [ 1941119511961 | 1971 [ 1981 .1‘9.91 CE S e
R populatlon 20 [24 |29 -{36 140 B B R c B
Estlmate the populatlon increase dunng the perlod at 1946 and 1976.","7’" S
: : B > (0[) .
b) Flndapolynomlal of degree four whrch takes the values e e T
CrxT2l4l6[8]10] AT
S ,f;y- olotrloto-} - i S T AT o

E 1 5 a) The populatron of the town isas follows o L
: | Year 1931 ] 1941 1951 1961 11971

| population | 40.62 - 60.80 | 79795 | 103.56 | '132.65 |
Estlmate the rate of' growth of populat1on durlng the perrod at x—1961

b) Evaluate j*———-dx by Trapezmdal Rule Slmpson s 1/3 rule and 3/8 rule d1v1d1ng the : : :

': range lntosequal parts, “



